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sbn 2380 gain vs za and fit Nov17-Mar18
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_____Poll. gain(az,za) 2380.0 Mhz Sigma(y-yfit): 0.4133

f(za): 7.95194 +(-0.07928)*za +(-0.02889)*(za-14) ™2 +( 0.00022)(za-14) ~ 3
f(1az): 0.4472*cos(1az) + (-0.6386)*sin(1az)

f(2az): 0.0113*cos(2az) + (-0.0429)*sin(2az)

f(3az): 0.1807*cos(3az) + (-0.2129)*sin(3az)

SigCof: za 0.2011 0.0180 0.0457 0.0090

SigCof: az 0.0717 0.0754 0.0731 0.0733 0.0756 0.0675
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2380 gain fit residuals (nov17-mar18) vs az,za

Rotation angle proportional to residual
0 Deg: (data-fit) = OK/Jy

+ 180 Deg : (data-fit) = +2K/Jy

- 180 Deg : (data-fit) = -2K/Jy
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